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1. The cost of producing iron in India is considerably lower than in other countries
because of:

 Low wages of miners
 Large supply of iron ore
 Large supply of coal
 Coal and iron ore are found in the same area

2. Imputed gross rent of owner-occupied buildings is a part of

 capital formation
 final consumption
 intermediate consumption
 consumer durable

3. Dismal performance of world economy during 1920s and 1930s gave rise to which
of the following institutions?
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 World Trade Organization
 United Nation
 IMF
 European Economic Union

4. Which of the following would you look up to find the fair value of a share?

 Price
 P/E Ratio
 EPS
 All of the above

5. External commercial borrowings of a country increases. What will be the impact
on the external debt of the country?

 Increase
 Decrease
 Remain unaffected
 Either increase or decrease
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